P. Staley M250 name: /< E Y

Southwestern College Practice Exam 3.7-4.

Show your work on this exam. CIRCLE YOUR ANSWERS. Be neat.

1. Use three iterations of Newton’s method to find x such that x*+x*= 11. Start with xo=2. Show all the

intermediate results.
ey = XT4x2 ) =0
L0 = BxP4ox

N X “g (X,,\) 'X; (.//Xn> X - ﬁ(xh) /‘p()(yﬁ

o 2 1 y 27 g
E Il 2=
L T e PN TSR 935709077

2 1.93570%;7 00002193 15, 1]23355,2 /.35 708233

2. Use the Midpoint Rule with n=4 to approximate

3

X dx / 1 !

! 1 1S lf -5,&3 :é—'—ng‘:":}
X, X, f 5 } ,X h 4 2
C —_12552 RS f{: "'

?
j x2dx 40 Led>ax ¥(61>AX +‘C(CQA)<+-@(C‘£) A)_i
= [.7,\3/ + /15 L 4~2.Z§3J2/4—2,75 ’Z—L - /?.75-


pstaley1
Rectangle

pstaley1
Text Box


4, State the definition for the indefinite integral.
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5. Determine the dimensions (height and radius) of a eylindrical soup can that contains a volume of 10
cubic inches and uses a minimum amount of metal.
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7. practice: n+!
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jcos(x)dx: Sin(x))+c
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deos®)= —Sin(t) d+
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